$$T(4) = d > 0$$

$$T(4) = a \cdot T(1/b) + f(n) , a>0, b>2, b \in N$$

$$T(4) = a \cdot T(1/b) + f(n) , a>0, b>2, b \in N$$

$$2mamo yoi i f: X \to R_{0}^{+}, fi \cdot f(x) \ge 0 a \cdot tx \in X.$$

$$Dates, u returzizi ze are nenegativno, a pozetui urzet d
i faltor a su pozitivni.
$$x \in X \iff x = n_{0} \cdot b^{2} \Rightarrow staviu n_{0} = 1 \quad x = n = b^{2}, i \in N_{0}$$

$$\Rightarrow T(n) > 0 \quad i \quad T(n) \quad strongo reate$$

$$- From swedim pouzzauje po f.
Also ze' f_{1}(n) \le f_{2}(n) ; ouch pripadui urzon T_{1}(u), T_{2}(n)$$

$$zadovol(arrzyn T_{1}(n) \le T_{2}(n) za \quad \forall n \in X.$$

$$Odavole ordinati vile i (zloog usuegativnosti f, T)$$

$$f_{1} \in O(f_{2}) \quad sli \quad f_{1}(n) \in O(f_{2}(n))$$

$$\Rightarrow T_{1} \in O(f_{2}) \quad sli \quad T_{1}(n) \in O(f_{2}(n))$$

$$= T_{1} \in O(T_{2}) \quad sli \quad T_{1}(n) \in O(T_{2}(n))$$

$$= Jates, alo ze' f_{1}(n) \in O(n^{p}/(logn)^{t+g})$$

$$f(n)$$
onola ze' za pripadue T- urzove visto $T_{1}(n) \in O(T(n)).$

$$= Zabo gledau "najveci uroguei" f, a to ze' f(n) = n^{p}/(logn)^{t+g}, g>0, p=log_{0}a^{n}$$

$$T(n) \in O(n^{p}).$$

$$(Hultiplitativna koust. u f urge botna.
Isto tako, $n_{0} = 1$ di uesto dingo - urge biton)$$$$

$$T(\lambda) = d$$

$$T(\lambda) = a \cdot T(n/b) + f(n), n = b^{i}, i \ge 1$$

$$f(n) = a \cdot T(n/b) + f(n), n = b^{i}, i \ge 1$$

$$f(n) = \frac{nP}{(\log n)^{i+g}} = \frac{n \log_{3} a}{(\log n)^{i+g}} = \frac{(b^{\log_{3} a})^{i}}{(i \log b)^{i+g}} = \frac{a^{i}}{(i \log b)^{i+g}}$$
Sad sharin $n = b^{i}, t_{i} = T(b^{i}).$

$$f(n) - f(b^{i}) = \frac{b^{i} \cdot \log_{3} a}{(\log b^{i})^{i+g}} = \frac{(b^{\log_{3} a})^{i}}{(i \log b)^{i+g}} = \frac{a^{i}}{i^{i+g}} (l_{og})^{i+g}$$

$$Ras palairant " returning a time the construction of the second of the$$

Dakle:

$$t_i \leq a^2 \cdot \left[d + \frac{1}{(\log b)^{4+g}} \cdot C \right]$$

coust - oznaka c

=) za svali i eN ye

$$t_i \leq c \cdot a^2$$
, za ushu Roust. c (ue onie: o i)
Na Evagui, $a^2 = (b^{\log_b a})^2 = b^{2 \cdot \log_b a} = (b^2)^p = n^p$
pa ye $(t_i = T(b^2) = T(u))$
 $T(u) \leq c \cdot n^p$, uvyetno za $n = b^2$, $i \in N$
 $T(u) \in O(n^p)$, $-11 - 1$

3

$$T(i) = d$$

$$T(u) = a^{T}(u/b) + f(u), \quad n = b^{T}, \quad i \ge 1$$

$$f(u) = n^{b}u^{n} / l_{eq}u$$

$$n = b^{T} \quad f_{1} = T(b^{n}) \qquad f(b^{T}) = b^{T} \cdot l_{eq}b^{n} / l_{eq}b^{T} = \frac{a^{T}}{b^{T}b^{T}} + \frac{a^{T}}{bqb} / l_{eq}b^{T} = \frac{a^{T}}{b^{T}b^{T}} + \frac{a^{T}}{bqb} + \frac{a^{T}}{c} + \frac{a^{T}}{bqb}$$

$$f_{0} = d \qquad = \frac{1}{bqb} \cdot \frac{a^{T}}{c}$$

$$f_{0} = d \qquad = \frac{1}{c} \cdot \frac{a^{T}}{bqb} + \frac{a^{T}}{c} \cdot \frac{1}{bqb}$$

$$f_{0} = a^{T}(a + \frac{a^{T}}{bqb} \cdot \frac{a^{T}}{c^{T}}) + \frac{a^{T}}{c} \cdot \frac{1}{bqb}$$

$$f_{0} = a^{T}(a + \frac{a^{T}}{bqb} \cdot \frac{1}{c^{T}} + \frac{1}{c})$$

$$f_{0} = a^{T}(a + \frac{a^{T}}{bqb} \cdot \frac{1}{c^{T}} + \frac{1}{c})$$

$$f_{1} = a^{T}(a + \frac{a^{T}}{bqb} \cdot \frac{1}{c^{T}} + \frac{1}{c})$$

$$f_{1} = a^{T}(a + \frac{b^{T}}{bqb} \cdot \frac{1}{c} + \frac{a^{T}}{c} \cdot \frac{1}{bqb}$$

$$f_{1} = b^{T}(a + \frac{b^{T}}{bqb} \cdot \frac{1}{c} + \frac{a^{T}}{c} \cdot \frac{1}{c})$$

$$f_{1} = b^{T}(a^{T}(a + \frac{bq}{bqb})) \qquad \frac{c_{1} + c_{2}(bq^{T})}{c_{2}(bq^{T})}$$

$$f_{1} = b^{T}(a^{T}(bq^{T}))$$

$$f_{1} = b^{T}(a^{T}(bq^{T}))$$

$$f_{2} = b^{T}(a^{T}(bq^{T})$$

$$f_{1} = b^{T}(a^{T}bq^{T})$$

$$f_{2} = b^{T}(a^{T}bq^{T})$$

$$f_{3} = b^{T}(a^{T}bq^{T})$$

$$f_{4} = b^{T}(b^{T}bq^{T}bq^{T})$$

$$f_{4} = b^{T}(b^{T}bq^{T}bq^{T})$$

$$f_{4} = b^{T}(b^{T}bq^{T}bq^{T})$$

$$f_{5} = b^{T}(a^{T}bq^{T}bq^{T})$$

$$f_{5} = b^{T}(a^{T}bq^{T}b$$

$$T(i) = d$$

$$T(u) = a T(u/b) + f(u), \quad n = b^{i}, \quad i \ge 1$$

$$f(u) = n^{6} \delta_{b} a \quad (l_{g} u)^{g-1}$$

$$n = b^{i} \quad t_{i} = T(b^{i}) \qquad f(b^{i}) = b^{i} [c_{0} b^{a}, (l_{0} b^{i})^{g-1}] = (b^{6} a^{a}, i)^{i} (i \cdot l_{0} b^{b})$$

$$= a^{i} \cdot i^{g-1} (l_{0} b^{g})^{g-1}$$

$$t_{0} = d$$

$$t_{0} = d$$

$$t_{0} = a + t_{-1} + i^{g-1} a^{i} (l_{0} b)^{g-1} a^{i-1} + i^{g-1} (l_{0} b^{g})^{g-1} a^{i}$$

$$= a \cdot (at_{i-2} + (n-1)^{g-1} (l_{0} b^{g})^{g-1} a^{i-1}) + i^{g-1} (l_{0} b^{g})^{g-1} a^{i}$$

$$= a^{2} t_{0-2} + (n-1)^{g-1} (l_{0} b^{g})^{g-1} a^{i} + i^{g-1} (l_{0} b^{g})^{g-1} a^{i}$$

$$= a^{2} t_{0-2} + a^{i} (l_{0} b^{g})^{g-1} [(n-1)^{g-1} + i^{g-1}]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= a^{i} t_{0} + a^{i} (l_{0} b^{g-1} + [(n-1)^{g-1} + i^{g-1}]]$$

$$= b^{i} t_{0} + a^{i} + a^{i}$$